
 

 ا�!�,�� ا#ول
 ����� ��	 
:ا��ا���ول ا����  


 ا��� و���� ا������� ر��ه������� ا����ار ا�
.............. .............. ............. I 
.............. .............. ��� .............. ا�%�$� ا�#"!	�

W .............. .............. .............. 
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 ا

  :ا�!�,�� ا����-ا
  :أ��( ا��!اغ 	�� ����� 

 +#��...................... 
����8 ����7 ��56��+ .�+ ا���!ف 123 �0�'ى أداء ا��"�ز ا�#"!	�L1 

ء أآ<! �+ ا���56ح ......=>�; أن ا���56ح  60W$�ر��  L2و  ��75W $�ر@�.........  

  :ا�!�,�� ا����. 
8
 ا��D=� ا�����AB * �5 ا��>�� :  

  F%G  H�IJ   اE$�!اح 
	��� �50���A5 اOP"�ة ا�#"!	���5 ا��
 �L7M 	�����ر  K5%�P=U×I ا��>$�

 
  .ا�����وب ا���5
    


 ����س ا���رة ا�#"!	���� ا��0�"�#2 8
 ا����ل �L���0 ا���اد ا�#"��	!.      
       .V��27W 	����ا�� ا����E  إذا ��!�B�Tءة ا���56ح إ�#'ن 

 
 :ا�!�,�� ا�,ا0/

 H�I6�'اب ا��ا !�Gا:  
��� ا������  ������ :ه
  I و  Uو  Pا��>$� ا��
 �!	& ا����د�! ا�

     P=U/I                 P=U×I                         P=U+I         
��� ا������  ������ :ه
  C و  nو  Eا��>$� ا��
 �!	& ا����د�! ا�

      E=C/n                  n=E/C                    C=n/E          
��� ا������  ������ :ه
 tو  Pو  Eا��>$� ا��
 �!	& ا����د�! ا�

      E=P/t             E=P×t                          E=P+t         
  :ا�!�,�� ا�2��1
 ���56� !5��=L   +ر���WEا L�I�12V ;15W). (  

8
 ا��I�� ا������   Lأ��0 ا���رة ا�#"!	���� ا��T +� �#2"�0!ف ا���56ح  -1:  
  U=6V                             I=0.125A                  

 ا������" 04" ��دة ا���
��ء
  ا������ إ��ادي

 



^( ا����[ ���� ا�Bءة ه\ا . 2L#� وا���رة ا����E ��56�2ح $�رن 8
 ه\V ا��I�� ا���رة ا��0�" -2
  ؟.ا���56ح 
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 ؟ -1�
 ��Wcرات ا���2�0 123 ا���اد ا�#"!	�������ا3& ا����'ل ا�  
  ؟Whب أ��0 ا�%�$� ا�#"!	���� ا��G �#2"�0>ل W"! أآ�'	!  -2

 G>ل W"! اآ�'	! ؟ -3�  ا����[ �3د دورات $!ص ا���اد ا�#"!	�

 

 ا�!�,�� ا���0/:
�� ا����زل اL�I�e �3اد ا�%� P ��� E1=2100kWhو  �W:C=2.5Wh/trر��+ ا�������+$� ا�#"!	�

 
  . Pmax= 6kWوا���رة ا�#"!	���� ا��6'�� ا���Iدة ����2ل ه
 
��Eا V!�'� fI� Vد!��	 ���8
 ه\ا ا����ل 8!=� آ"!	� L7M=220V  @�ء�و��3 ا=  g6=ة ���3 و���و

  . E2 = 2103kWhه\V ا���ة ا�Wر ا���اد ا�1 ا����� 
  . ^( ����'ل kWhأ��0 ا�%�$� ا�#"!	���� ا��T +�  �#2"�0!ف ا��!ن G>ل ��ة ��2�7M ب -1
2�!ن؟ -2� ��� ا����[ ا���رة ا�#"!	�
10��د ا�6"�!ة ا��>��� �����I ا��!ن ، هL ا�6"�!ة �+ ��3ر  -3A  5أم �+ ��3رA ؟ j	ا'O L23 
و��56��+ آL وا�� �A� L7M=(220V ;800W)  L�I ا��!ن ا�K��0 �#'اة �L�I ا�WEر��+   -4


 ام E؟) (220V.100Wا�WEر��+ � 	�+ �� اذا آ�ن ا���� LJ�A% ا����ر ا�#"!	�
                                                                                 )6!�  .ا

  

        

 

5152kWh         
C=1.5Wh/tr        

5164kWh            
C=1.5Wh/tr   
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 ا�!�,�� ا#ول
 ����� ��	 
:ا��ا���ول ا����  


 ا��� و���� ا������� ر��ه������� ا����ار ا�
A  ,�(:- أ��ر ا�;0,6�ة ا�!��< I 
J 'ل��ا ��� E ا�%�$� ا�#"!	�

W :�� ا��اط�ا�<�رة ا�;0,6 P 
V �ا�&�'  U .ا�!��, ا�;0,6�:- 

 
  :ا�!�,�� ا����-ا

  :أ��( ا��!اغ 	�� ����� 

  ا����
ات ا?"�����#+ ��56��+  �7\�����8 .�+ ا���!ف 123 �0�'ى أداء ا��"�ز ا�#"!	��L1 
�; أن ا���56ح  W60$�ر��  2Lو W75 $�ر�� <=1L.�56ح��ء أآ<! �+ ا
@�2L  .  

  :ا�!�,�� ا����. 
8
 ا��D=� ا�����AB * �5 ا��>�� :  

Eاح ا!�$   F%G  H�IJ  
	��� �50���A5 اOP"�ة ا�#"!	���5 ا��
 �L7M 	�����ر  K5%�P=U×I ا��>$�

 
  .ا�����وب ا���5
*    


 ����س ا���رة ا�#"!	���� ا��0�"�#2 8
 ا����ل �    *  .�L���0 ا���اد ا�#"!	�
    *  .V��27W 	����ا�� ا����E  إذا ��!�Tا���56ح  إ�Bءة�#'ن 

 
 :/ا�!�,�� ا�,ا0

 H�I6�'اب ا��ا:  
��� ا������  ������ :ه
  I و  Uو  Pا��>$� ا��
 �!	& ا����د�! ا�

                      P=U×I                          
��� ا������  ������ :ه
  C و  nو  Eا��>$� ا��
 �!	& ا����د�! ا�

                        n=E/C                              
��� ا������ ا ������ :ه
 tو  Pو  E��>$� ا��
 �!	& ا����د�! ا�

                  E=P×t                           
  :ا�!�,�� ا�2��1
 ���56� !5��=L   +ر���WEا L�I�12V ;15W). (  

8
 ا��I�� ا������   Lا���رة ا�#"!	���� ا��T +� �#2"�0!ف ا���56ح  -3:  
  U=6V                             I=0.125A                   

  P=U×I                      :=�2( أن 



  : �K�5% �3دي 
P= 6V×0.125A=0.75W  

4-  ;�<=  ���I�ا V\ه 
 . Lا���رة ا����E ��56�2ح  �+ اL !7J ��56�2ح ا���رة ا��0�"2#�أن  8
8 
��ه\ا ا���56ح  إ�Bءة نmو	�������B ن'#��.  

 �  : ا���دسا�!�,�
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1- n� 
������
 �Wرات ا���2�0 123 ا����'ل ا��ا���اد ا�#"!	�  

.��<>ن ا�%�$� ا�#"!	���� ا��0�"2#� ��� وAB ا���اد   5164kWh 5152 وkWh  *         
 * C=1.5Wh/tr        L>�� ^�	� اد����!ص . (ا�2�ة �� .)ا�%�$� ا�#"!	���� ا��G �#2"�0>ل دورة وا

  :ه
Whب ا�%�$� ا�#"!	���� ا��G �#2"�0>ل W"! أآ�'	!  -2
E=5164-5152=12kWh                              


 G>ل W"! �3د دورات $!ص ا� -5�  :آ�'	! ه
أ��اد ا�#"!	�
  n=E/C :          =�2( أن

  :�K�5% �3دي
n=1200Wh/1.5Wh/tr =800tr                   

 

 ا�!�,�� ا���0/:
.  

1-  ��� :ه
 TkWh!ف ا��!ن G>ل ��ة ��2�7M ب ا��0�"2#� �+ا�%�$� ا�#"!	�
E=2103-2100=3kWh                        

  :    	���'ل
E=3×1000×3600=1.08×107J                  

2�!ن -2� ��� :ه
 ا���رة ا�#"!	�
     P=E/t:=�2( أن 

       K�5%�:P=3kWh/1.5h =2kW �3دي
3-  ���I��، ن!�  :ا���رة 8
 ا��!ن   �W �0I=Iة ا����ر ا�6"�!ة ا��>��� �����I ا�

     I=P/U:=�2( ان
�8ن ا�6"�!ة ا��>��� ه
 ذات ا����ر  10A>I	�� أن        K�5%�:I=2kW/220V=9.09A �3دي
10A          

 :ا��0�"�#2 8
 ا����ل ا��Oe������0I ا���رة  -4
Pt=2kW+800W+100W+100W= 3000W=3kW         

                                                                             .ا����8LJن ا����ر �+ ���%T +� A!ف    Pt<Pmax	�� أن 
                                                                                                   )6!� .ا

5152kWh         
C=1.5Wh/tr        

5164kWh            
C=1.5Wh/tr   

  


